2015/2016 /NE54F BF500m

2016.04.281&1F
JE 4L A4 L K % B # B 5 X £ 4
1 0:46.13 HH EBEA At 2016.01.17 I LHxz—7 BEIi=7HEIE
2 0:46.49 R gt JNEE= 2016.02.10 E+FH W eiiF K&
3 0:46.67 ZFHE i NG 2016.01.03 #RHiR BHRKE
4 0:47.14 At BEAER /N AW 20160117 I LYz—7 BEIa=—7HEIE
5 0:4718 KB ZEKAER 1E A FE 2016.01.17 I LHxz—7 BIoa=7HEI(E
6 0:4758 HH B NG 2016.0228 B HFH = i O ey 4
7 0:47.63 &H Xl g 2016.01.17 ITLHxz—7 BIa=7HEI(E
8 0:48.15 FZEH =i ]S 2015.12.05  #\[Ei#A INEETRAR
9 0:48.27 HH 3 NEE— 2016.02.11  #XJFi# N R Vs By I
=10 04867 /MR RK £iR 2016.01.17 I LHx—7 BIoa=—7HIE
=10 04867 [EE B NG 2016.01.17 I LHxz—7 BIoa=—7HEIE
12 0:48.75 THE ME%E 2016.01.17 ITLHz—7J BIOa=7HiE
13 0:4893 Ik Z=HE A 2016.01.17 ITLHxz—7J BIOai=—7HEiE
14 0:49.32 FIIl ##X ELTR 2016.0228 ETHH Etaoa1=7
15 0:4949 ET EREZN E 2016.01.17 ITLHz—7 BIaz=7HEIE
16 0:49.78 dft FEKER /N 2015.12.05 AR i# INVEETRAR
17 0:4980 EE RME £iR 2016.0228 E+ZFH Etaoa1=7
18 0:50.12 {FiE K& JNEE= 2016.02.11 AR ;H WE#HE2—F
19 05065 HH* HIE FA 2016.01.03 #EHiR BHRKXE
20 05067 HAO TE R 2016.01.17 ITLHz—7 BIoa=7HEI(E
21 0:5091 FE = = 2016.01.17 ITLHoxz—7 BBIa2-7HEIE
22 0:51.39 /K KE [k 2016.02.11  #A[RHA WIRH 22—
23 05183 =ik + HEF 2016.01.17 ITLHz—7 BIoa=7HEI(E
24 0:51.95 At fmj( NG 2016.02.11  #AJF;HA WmEME 52—
25 0:51.97 [RHE XK £iR 2016.01.31 FEH 95T %
26 0:52.78 Fith #h3t el 2016.01.17 ITLHz—7 BIa=7HEI(E
27 0:54.33 U# XK iz 2016.01.17 I LHz—7 BIa=7HEI(E
28 05441 IMNE BXK NEE— 2016.02.06 A JEH FEAHE
29 0:5543 f/H HA g 2016.01.31 FE 95T %
30 0:55.58 HE Kith RE 2016.01.31 F5H 95T %
31 0:55.83 =3 i [FaRs4E) 2016.01.11 A& WEMRKE
32 0:56.05 {FER FEHR RE 2016.01.31 F5H 95T %t
33 0:56.27 XiE HIK EES 2016.01.17 ITLHz—7 BIa=—7HEI(E
34 0:57.80 iR BEF | 2016.02.11 A JE;H WE#HE 42—
35 1:01.11 TH 8K TimEAEE 2016.01.17 ITLHxz—7 BIa2-7EIE
36 1:.0506 HHF BX NEE— 2016.02.06 AR ;H FEAHE
37 1:07.42 H ®HE NI 2015.12.19 [E#& B 7RAR
38 1:07.57 #EBHE LXK KETH 2015.11.29 [E& PEUVTHYS
39 1:09.37 SHF HE NEE— 2016.01.11 A JE;H WEMRKE
40 1:10.96 7*P EN RS 2016.02.11  [@& mEAH A KRS
41 1:11.77 {&kE Enit & A1 2015.12.26 AR NERS—FKE
42 1:13.28 =ik EE fEHEmRE 2016.01.17 ILHz—7 BIoa=7HEI(E
43 1:3492 [FH —iF £iR 2016.01.16 %5 FilRE



	5m500 (428)

